P
575 X
32
e
E
~l8 -
0 ¢°
wn o
,\' [¢0]
w0
T
N2 £ SCA0A™,
N1 ===
T
\__ho[19]. /
|SC... B
o= H] D M M1 M2 N N1 N2 N4 P i
A052 |SK40A 74 9 10.4 3 55 63 40 |Mmsxt0| 3 2075 | 5
A052 |SK60A 102 11 12.8 4 82 75 60 | M5x10 | 35 206 5
A052 |SK60B 102 14 163 5 82 75 60 | Msx10| 4 213 5
A052 |SK80A 115 14 16.3 5 90 100 80 | Mex12| 4 213 5
5 m&] =
H] %? Mt | D E F G M N | N | N2 | N4 X P | B
AO52 |SC40A | M5 15Nm| 74 | 105 | 95 | 125 | 9 55 | 63 | 40 |M5x10| 3 | 2265| 6
AO52 |SC60A | M6 15Nm| 102 | 7 | 125 | 125 | 11 | 82 | 75 | 60 |Msxto| 4 | 233 | 6
A052 |SC60B | M6 15Nm| 102 125 | 125 | 14 | 82 | 75 | 60 |Msxio| 4 | 233 | 6
A052 |SC8A | M6 15Nm| 115 125 | 125 | 14 | 9 | 100 | 80 |Mexi2| 4 | 233 | 6




A 10...SK / SC

P . — P
.L_l N N L F
y /— ; M&_r_ 4’7 /1?7 <X
o+ < " [H=ye
e > S (5 B (™ i
7=, 3% [l =7y [
-—-e _ BONFIGLIOLI o ®}\ k. i/ || (Do ' */ =1:____ Luf
E : 0 \ +r_ B f 5 ? g
== —{% ] ‘| .ME7 — M F7
~E ; o N2 — N2 —
o) 50 50 N1 N1
I
SK... SC...|
H] D M M1 M2 N N1 N2 N4 X P &
A102 SK60A 102 11 12.8 4 82 75 60 M5x10 3.5 254 8
A102 SK60B 102 14 16.3 5 82 75 60 M5x10 4 261 8
A102 SK80A 115 14 16.3 5 90 100 80 M6x12 4 261 8
A102 SK80C 120 19 21.8 6 96 100 80 M6x12 4 302 9
A102 SK95A 130 14 16.3 5 102 115 95 M8x12 4 302 9
A102 SK95B 130 19 21.8 6 102 115 95 M8x12 4 302 9
A102 SK95C 130 24 273 8 102 115 95 M8x12 4 302 9
A102 SK110A 150 19 21.8 6 120 130 110 M8x12 5 302 9
A102 SK110B 150 24 27.3 8 120 130 110 M8x12 5 302 9
H:I @ Mt D E F G M N N1 N2 N4 X P ‘&
A102 SC60A M6 15Nmj| 102 7 12.5 125 11 82 75 60 M5x10 4 281 9
A102 SC60B M6 15Nm| 102 7 12.5 125 14 82 75 60 M5x10 4 281 9
A102 SC80A M6 15Nm| 115 6 12.5 12.5 14 90 100 80 M6x12 4 281 9
A102 SC80C M6 15Nm| 120 15.5 14.5 | 17.75 19 96 100 80 M6x12 4 325.5 10
A102 SC95A M6 15Nm| 130 16.5 15 17.75 14 102 115 95 M8x16 4 325.5 10
A102 SC95B M6 15Nm| 130 16.5 15 17.75 19 102 115 95 M8x16 4 325.5 10
A102 SC95C M6 15Nm| 130 16.5 15 17.75 24 102 115 95 M8x16 4 325.5 10
A102 SC110A M6 15Nm| 150 16.5 16 17.75 19 120 130 110 | M8x16 5 325.5 12
A102 SC110B M6 15Nm| 150 16.5 16 17.75 24 120 130 110 | M8x16 5 325.5 12




—

o @ @ o 2 .

© S K
Mig_ £
J_g & _®— LioLl 01 T o
3 P (e - A
) ﬁ — in
@ 60
H] D M M1 M2 N N1 N2 N4 X
A 202/3 |SKG0A 102 11 12.8 4 82 75 60 | M5x10 | 35 | 2775 | 333 |11/12
A 20 2/3 | SK60B 102 14 16.3 5 82 75 60 | M5x10 | 4 2845 | 340 |12/13
A 20 2/3 | SK80A 115 14 16.3 5 90 100 80 | Méx12| 4 2845 | 340 |12/13
A 20 2/3 |SK80C 120 19 21.8 6 96 100 80 | Mex12| 4 3255 | 381 |13/14
A202/3 |SK95A 130 14 16.3 5 102 115 95 | M8x12| 4 3255 | 381 |13/14
A202/3 |SK95B 130 19 218 6 102 115 95 | Mexi2| 4 3255 | 381 |13/14
A 20 2/3 | SK95C 130 24 273 8 102 115 95 | Mexi2| 4 3255 | 381 |13/14
A202/3 |SK110A | 150 19 218 6 120 130 110 | M8x12 | 5 3255 | 381 |13/14
A202/3 |SK110B | 150 24 273 8 120 130 110 | Mex12| 5 3255 | 381 |13/14
H] @ M| b | E| F |6 | M| N | N | N | N | X |2xT|3x i<

A 202/3 |SCE0A 15Nm| 102 | 7 | 125|125| 11 | 82 | 75 | 60 | M5x10| 4 | 3045 | 360 |12/13
A202/3 |SC60B | M6 15Nm| 102 | 7 | 125 |125| 14 | 82 | 75 | 60 | Msx10| 4 | 3045 | 360 |13/14
A202/3 |SC80A | M6 15Nm| 115 | 6 | 125 | 125 | 14 | 90 | 100 | 80 | Méx12 | 4 | 3045 | 360 |13/14
A202/3 |SC80C | M6 15Nm| 120 | 155 | 145 |17.75| 19 | 96 | 100 | 80 | Mex12| 4 | 349 | 4045 [14/15
A202/3 |SC95A | M6 15Nm| 130 | 165 | 15 |17.75| 14 | 102 | 115 | 95 | M8x16 | 4 | 349 | 4045 |14/15
A202/3 |SC95B | M6 15Nm| 130 | 165 | 15 |17.75| 19 | 102 | 115 | 95 | M8x16 | 4 | 349 | 4045 |14/15
A202/3 |SC95C | M6 15Nm| 130 | 165 | 15 |17.75| 24 | 102 | 115 | 95 | Msx16 | 4 | 349 | 4045 [14/15
A202/3 |SC110A | M6 15Nm| 150 | 165 | 16 |17.75| 19 | 120 | 130 | 110 | M8x16 | 5 | 349 | 4045 |15/16
A202/3 |SC110B | M6 15Nm| 150 | 165 | 16 |17.75| 24 | 120 | 130 | 110 | M8x16 | 5 | 349 | 4045 |15/16




)

¢ ST

18— @ e |

8 =
Al
= 63,]. 63 ] | 22
P
H] D M M1 M2 N N1 N2 N4 X |2x x G| A

A30 2/3 |SK60A 102 11 12.8 4 82 75 60 | M5x10 | 35 | 3045 | 362 |15/16
A302/3 |SK60B 102 14 16.3 5 82 75 60 | M5x10 | 4 | 3115 | 369 |16/17
A302/3 |SK80A 115 14 16.3 5 90 100 80 | Méx12| 4 | 3115 | 369 |16/17
A30 2/3 |SK80C 120 19 21.8 6 96 100 80 |Mex12| 4 | 3525 | 410 |17/18
A302/3 |SK95A 130 14 16.3 5 102 115 95 | M8x12| 4 | 3525 | 410 |17/18
A302/3 |SK95B 130 19 218 6 102 115 95 | M8x12| 4 | 3525 | 410 |17/18
A302/3 |SK95C 130 24 273 8 102 115 95 | Msx12| 4 | 3525 | 410 |17/18
A302/3 |SK110A | 150 19 2138 6 120 130 110 | Mex12 | 5 | 3525 | 410 |17/18
A302/3 |SK110B | 150 24 273 8 120 130 110 | M8x12| 5 | 3525 | 410 |17/18
A302 |SK130A | 188 24 273 8 142 165 130 |M1ox20| 5 | 3525 | — | 18

) P

H] @ mt | o | E| F || m | NN N2| N | x |2xTlnxCh| B
A302/3 |SC60A | M6 15Nm| 102 | 7 | 125 | 125 | 11 | 82 | 75 | 60 | M5x10 | 4 | 3315 | 389 |16/17
A302/3 |SC60B | M6 15Nm| 102 | 7 | 125 | 125 | 14 | 82 | 75 | 60 | M5x10 | 4 | 3315 | 389 |17/18
A302/3 [SC80A | M6 15Nm| 115 | 6 | 125 | 125 | 14 | 90 | 100 | 80 | M6x12 | 4 | 3315 | 389 |17/18
A302/3 |SC80C | M6 15Nm| 120 | 155 | 145 |17.75| 19 | 96 | 100 | 80 | Mex12 | 4 | 376 | 433.5 |18/19
A302/3 [SC95A | M6 15Nm| 130 | 165 | 15 |17.75| 14 | 102 | 115 | 95 | Mex16 | 4 | 376 | 433.5 |18/19
A302/3 |SC95B | M6 15Nm| 130 | 165 | 15 |17.75| 19 | 102 | 115 | 95 | M8x16 | 4 | 376 | 4335 |18/19
A302/3 |SC95c | M6 15Nm| 130 | 165 | 15 |17.75| 24 | 102 | 115 | 95 | M8x16 | 4 | 376 | 433.5 |18/19
A302/3 [SC110A | M6 15Nm| 150 | 165 | 16 |17.75| 19 | 120 | 130 | 110 | M8x16 | 5 | 376 | 433.5 |19/20
A302/3 |sc110B | M6 15Nm| 150 | 165 | 16 |17.75] 24 | 120 | 130 | 110 | Mex16 | 5 | 376 | 4335 |19/20
A302 |SC130A| M6 15Nm| 188 | 19 | 16 |17.75| 24 | 142 | 165 | 130 |M10x20| 5 | 376 | — | 20




P

D M M1 M2 N N1 N2 N4 X |2x (ks |3x Ok
A352/3 |SKG0A 102 11 12.8 4 82 75 60 | M5x10 | 35 331 | 388.5 |27/28
A352/3 |SK60B 102 14 16.3 5 82 75 60 | M5x10 | 4 338 | 395.5 |28/29
A352/3 |SK80A 115 14 16.3 5 90 100 80 [ Mex12| 4 338 | 3955 |28/29
A352/3 |SK80C 120 19 21.8 6 96 100 80 | Mex12| 4 379 | 436.5 |29/30
A352/3 |SK95A 130 14 16.3 5 102 115 95 |Msx12| 4 379 | 4365 |29/30
A352/3 |SK95B 130 19 218 6 102 115 95 | M8x12 | 4 379 | 436.5 |29/30
A352/3 |SK95C 130 24 27.3 8 102 115 95 | Msx12| 4 379 | 4365 |29/30
A352/3 [SK110A | 150 19 2138 6 120 130 110 | Msx12| 5 379 | 436.5 |29/30
A352/3 |SK110B | 150 24 27.3 8 120 130 110 [ M8x12| 5 379 | 4365 |29/30

A352 [SK130A | 188 24 27.3 8 142 165 130 |[M10x20| 5 379 | — [ 30

P

H] @ m | o | E|F o | m| N[N |n| N | x |xC|xT| B
A352/3 [SC60A | M6 15Nm| 102 | 7 | 125|125 | 11 | 8 | 75 | 60 | M5x10| 4 | 358 | 4155 |28/29
A352/3 [SC60B | M6 15Nm| 102 | 7 | 125|125 | 14 | 82 | 75 | 60 |M5x10| 4 | 358 | 4155 [29/30
A352/3 [SC80A | M6 15Nm| 115 | 6 | 125|125 | 14 | 90 | 100 | 80 |Mex12| 4 | 358 | 4155 |29/30
A352/3 [SC80C | M6 15Nm| 120 | 155 | 145 |17.75| 19 | 96 | 100 | 80 |Mex12| 4 | 4025 | 460 |30/31
A352/3 [SC95A | M6 15Nm| 130 | 165 | 15 |17.75| 14 | 102 | 115 | 95 | M8x16 | 4 | 4025 | 460 |30/31
A352/3 |SCO5B | M6 15Nm| 130 | 165 | 15 |17.75| 19 | 102 | 115 | 95 | M8x16 | 4 | 4025 | 460 |30/31
A352/3 |SC95C | M6 15Nm| 130 | 165 | 15 [17.75| 24 | 102 | 115 | 95 | Mex16 | 4 | 4025 | 460 |30/31
A352/3 |[SC110A | M6 15Nm| 150 | 165 | 16 [17.75| 19 | 120 | 130 | 110 | M8x16 | 5 | 4025 | 460 [32/33
A352/3 |SC110B | M6 15Nm| 150 | 165 | 16 [17.75] 24 | 120 | 130 | 110 | Mex16 | 5 | 4025 | 460 |32/33

A352 [SC130A | M6 15Nm| 188 | 19 | 16 [17.75] 24 | 142 [ 165 | 130 [M10x20] 5 | 4025 | — [ 33




112
B “ 5 N
f,
- N\—— W) H
18—+ e - o
‘g lé;’ <Z> N t g
N —l@ —1 | MEF7
 HH : RS N2 L
2 80 | 80 20 N1
[SC...
P
H] D M M1 M2 N N1 N2 N4 X |2xCh|3x Ch o
A413 _ |SK60A 102 11 12.8 4 82 75 60 | M5x10 | 3.5 — | 408 [ 40
A413 _ |SK60B 102 14 16.3 5 82 75 60 | M5x10| 4 — [ 415 [ 40
A413 _ |SK80A 115 14 16.3 5 90 100 80 | Mex12| 4 — 415 | 40
A412  |SK80B 120 14 16.3 5 96 100 80 | Mex12| 4 3945 |. — | 39
A412/3 |SK80C 120 19 21.8 6 96 100 80 | Mex12| 4 3945 | 456 |39/40
Ad412/3 | SK95A 130 14 16.3 5 102 115 95 | Msx12| 4 3945 | 456 |39/40
A412/3 |SK95B 130 19 21.8 6 102 115 95 | Msx12| 4 3945 | 456 |39/41
A412/3 |SK95C 130 24 27.3 8 102 115 95 | Mmsx12| 4 3945 | 456 |39/44
Ad412/3 |SK110A | 150 19 21.8 6 120 130 110 | M8x12| 5 3945 | 456 | 39/44
A412/3 |SK110B | 150 24 273 8 120 130 110 | M8x12| 5 3945 | 456 | 39/44
A412  |SK130A | 188 24 273 8 142 165 130 |M10x20] 5 3945 | — | 41
A412  [SK130B | 189 32 35.3 10 160 165 130 |[M10x20| 5 441 — | 43
A412  |SK180A | 240 32 35.3 10 192 215 180 |M12x19] 5 441 — | 43
A412  |SK180B | 240 38 413 10 192 215 180 |M12x19] 5 441 — | 43
P >
o H] @ m | o | E| F|l e | m/| N | N |N]| N | x [2xT[x &
A413  |SC60A | M6 15Nm| 102 | 7 | 125|125 | 11 | 82 | 75 | 60 | M5x10 | 4 — | 435 | 41
A#13  |sceoB | M6 15Nm| 102 | 7 | 125 (125 | 14 | 82 | 75 | 60 | M5x10 | 4 — | 435 [ a1
A413 |SC80A | M6 15Nm| 115 | 6 | 125|125 | 14 | 90 | 100 | 80 | Méx12 | 4 — | 435 [ a1
A412 |SC80B | M6 15Nm| 120 | 155 | 14.5 [17.75| 14 | 96 | 100 | 80 | Méx12 | 4 | 418 — |40
A412/3 |SC80C | M6 15Nm| 120 | 155 | 14.5 [17.75] 19 | 96 | 100 | 80 | M6éx12 | 4 | 418 | 479.5 |40/41
A412/3 |SCO5A | M6 15Nm| 130 | 165 | 15 |17.75] 14 | 102 | 115 | 95 | M8x16 | 4 | 418 | 479.5 |40/42
A412/3 |SCO5B | M6 15Nm| 130 | 165 | 15 |17.75| 19 | 102 | 115 | 95 | M8x16 | 4 | 418 | 479.5 |40/42
A412/3 |scosc | M6 15Nm| 130 | 165 | 15 [17.75| 24 | 102 | 115 | 95 | M8x16 | 4 | 418 | 479.5 |40/43
A412/3 |SC110A | M6 15Nm| 150 | 16,5 | 16 |17.75| 19 | 120 | 130 | 110 | M8x16 | 5 | 418 | 479.5 |41/47
A412/3 |SC110B | M6 15Nm| 150 | 165 | 16 |17.75| 24 | 120 | 130 | 110 | M8x16 | 5 | 418 | 4795 |41/47
A412 |SC130A | M6 15Nm| 188 | 19 | 16 |17.75| 24 | 142 | 165 | 130 |M10x20| 5 | 418 — | 42
A412 |sc130B | M8 36Nm| 189 | 20 | 17 [17.75] 32 | 160 | 165 | 130 [M10x20| 5 | 464 — | 46
A412 |SC180A | M8 36Nm| 240 | 20 | 17.5 |17.75| 32 | 192 | 215 | 180 |M12x24| 5 | 468 — | 46
A412 |SC180B | M8 36Nm| 240 | 20 | 175 [17.75] 38 | 192 | 215 | 180 |M12x24| 5 | 468 — | 46




P _P . —P
140 N X N ot {<k
M2 Hg X
| | 1 )/lé’ ] }4&9 G
= x i € S /7‘7 —T‘?\ = LI N4 N | T
W oT= ot 1L =@y [
—-8 —e] = - BONFIGLIOLI :t *i w
Q & ! - > OO =5t - 22 ngs.’
- - & L4 - | _ME7 ——] | MEF7
; N2 — N2 .
i 1025|1025 N1 N1
SK... 'SC... |
H] P
D M M1 M2 N N1 N2 N4 X 2/3x @ 4x 255 &
A50 4 SK60A 102 11 12.8 4 82 75 60 M5x10 3.5 — 497.5 62
A50 4 SK60B 102 14 16.3 5 82 75 60 M5x10 4 — 504.5 62
A50 4 SK80A 115 14 16.3 5 90 100 80 M6x12 4 — 504.5 62
A50 2/3 |SK80B 120 14 16.3 5 96 100 80 M6x12 4 474 — 61/61
A50 2/3/4| SK80C 120 19 21.8 6 96 100 80 M6x12 4 474 545.5 |61/61/63
A50 2/3/4 | SK95A 130 14 16.3 5 102 115 95 M8x12 4 474 545.5 |61/61/63
A50 2/3/4| SK95B 130 19 21.8 6 102 115 95 M8x12 4 474 545.5 |61/61/63
A50 2/3/4| SK95C 130 24 27.3 8 102 115 95 M8x12 4 474 545.5 |61/61/63
A50 2/3/4|SK110A 150 19 21.8 6 120 130 110 M8x12 5 474 545.5 |61/61/65
A50 2/3/4|SK110B 150 24 27.3 8 120 130 110 M8x12 5 474 575 |61/61/65
A50 2/3/4| SK130A 188 24 27.3 8 142 165 130 M10x20 5 474 575 |63/63/66
A50 2/3 |SK130B 189 32 35.3 10 160 165 130 M10x20 5 520.5 — 69/69
A50 2/3 |SK180A 240 32 35.3 10 192 215 180 M12x19 5 520.5 — 69/69
A50 2/3 |SK180B 240 38 41.3 10 192 215 180 M12x19 5 520.5 — 69/69
_ P
H] @ Mt D E F G M N N1 N2 N4 X |2/3x 4x ’@é é
A50 4 SC60A M6 15Nm| 102 7 125 | 12.5 11 82 75 60 M5x10 4 — 524.5 63
A50 4 SC60B M6 15Nm| 102 7 12.5 | 12.5 14 82 75 60 M5x10 4 — 524.5 63
A50 4 SC80A M6 15Nm| 115 6 125 | 12.5 14 90 100 80 M6x12 4 — 524.5 63
A50 2/3 |SC80B M6 15Nm| 120 | 15.5 | 14.5 |17.75| 14 96 100 80 M6x12 4 497.5 — 62/62
A50 2/3/4|SC80C M6 15Nm| 120 | 15.5 | 14.5 |17.75| 19 96 100 80 M6x12 4 497.5 569 |62/62/64
A50 2/3/4| SC95A M6 15Nm| 130 | 16.5 15 |17.75| 14 102 | 115 95 M8x16 4 497.5 569 |62/62/64
A50 2/3/4| SC95B M6 15Nm| 130 | 16.5 15 |17.75| 19 102 | 115 95 M8x16 4 497.5 569 |62/62/64
A50 2/3/4|SC95C M6 15Nm| 130 | 16.5 15 |17.75| 24 102 | 115 95 M8x16 4 497.5 569 |62/62/64
A50 2/3/4|SC110A M6 15Nm| 150 | 16.5 16 |17.75| 19 120 | 130 | 110 | M8x16 5 497.5 569 |63/63/66
A50 2/3/4/SC110B M6 15Nm| 150 | 16.5 16 [17.75| 24 120 | 130 | 110 | M8x16 5 497.5 569 |63/63/66
A50 2/3/4| SC130A M6 15Nm| 188 19 16 [17.75] 24 142 | 165 | 130 |M10x20| 5 497.5 569 | 64/64/67
A50 2/3 [SC130B M8 36 Nm| 189 20 17 [17.75| 32 160 | 165 | 130 |M10x20| 5 543.5 — 68/68
A50 2/3 |SC180A M8 36 Nm| 240 20 17.5 |17.75| 32 192 | 215 | 180 [M12x24| 5 547.5 — 68/68
A50 2/3 |SC180B M8 36 Nm| 240 20 17.5 |17.75| 38 192 | 215 | 180 |M12x24| 5 547.5 — 68/68




140
g
18—
N w0
g 3
7.
<t
- 102.5_| 102.5

TAC P

H] D M M1 M2 N N1 N2 N4 X |2 @slax G| B
A554 |SK60A | 102 11 12.8 4 82 75 60 | M5x10 | 35 — | 5155 | 716
A554 |SK60B | 102 14| 163 5 82 75 60 | M5x10 | 4 — | 5225 | 78
A554 |SK80A | 115 14 | 163 5 90 100 80 | Méx12 | 4 — | 5225 | 76
A553 |SK8OB | 120 14 | 163 5 96 100 80 | Mex12 | 4 492 = 81
A55 2/3/4|SK80C | 120 19 | 218 6 96 100 80 | Mex12 | 4 492 | 5635 |81/81/77
A553/4 |SK95A | 130 14 16.3 5 102 | 115 95 | Mex12 | 4 492 | 5635 |81/81/77
A55 2/3/4|SK95B | 130 19 | 218 6 102 | 115 95 | Mex12| 4 492 | 5635 |81/81/77
A55 2/3/4|SK95C | 130 24 | 273 8 102 | 115 95 | Mex12 | 4 492 | 563.5 |81/81/77
AS55 2/3/4SK110A | 150 19 | 218 6 120 | 130 | 110 | M8x12| 5 492 | 593 |81/81/78
AS55 2/3/4| SK110B_| 150 24 | 273 8 120 | 130 | 110 | M8x12| 5 492 | 593 |81/81/78
AS55 2/3/4|SK130A | 188 24 | 27.3 8 142 | 165 | 130 |M10x20] 5 492 | 593 |83/83/79
A552/3 |SK130B | 189 32 | 3563 10 160 | 165 | 130 |M10x20| 5 5385 | — | 90/90
A552/3 |SK180A | 240 32 | 353 | 10 192 | 215 | 180 |M12x19] 5 5385 | — | 90/90
A552/3 |SK180B | 240 38 | 413 | 10 192 | 215 | 180 |M12x19| 5 5385 | — | 90/90

= P

o= H] @ mt | o | E| F e | m| NN |N]| N | x 2G5 |ax | B
A554 |SC60A | M6 15Nm| 102 | 7 | 125|125 11 | 82 | 75 | 60 | M5xi0 | 4 — | 5425 | 77
A554 |SC60B | M6 15Nm| 102 | 7 | 125|125 14 | 82 | 75 | 60 | M5x10 | 4 — | 5425 | 77
A554 |SC80A | M6 15Nm| 115 | 6 | 125 125] 14 | 90 | 100 | 80 | Méx12 | 4 — | 5425 | 17
A553 |SC80B_| M6 15Nm| 120 | 15.5 | 14.5 [17.75] 14 | 96 | 100 | 80 | Mexi2 | 4 | 5155 | — 82
A55 2/3/4|SC80C__ | M6 15Nm| 120 | 15.5 | 14.5 [17.75] 19 | 96 | 100 | 80 | Méx12 | 4 | 5155 | 587 |82/82/78
A553/4 |SC95A | M6 15Nm| 130 | 16.5 | 15 |17.75]| 14 | 102 | 115 | 95 | M8x16 | 4 | 5155 | 587 |82/82/78
A552/3/4|SC95B | M6 15Nm| 130 | 16.5 | 15 |[17.75] 19 | 102 | 115 | 95 | M8x16 | 4 | 5155 | 587 |82/82/78
A552/3/4/SC95C | M6 15Nm| 130 | 16,5 | 15 |17.75] 24 | 102 | 115 | 95 | M8x16 | 4 | 5155 | 587 |82/82/78
A55 2/3/4|SC110A | M6 15Nm| 150 | 16,5 | 16 |17.75] 19 | 120 | 130 | 110 | M8x16 | 5 | 5155 | 587 |83/83/79
A55 2/3/4/SC110B_| M6 15Nm| 150 | 16.5 | 16 |17.75] 24 | 120 | 130 | 110 | M8x16 | 5 | 5155 | 587 |83/83/79
A55 2/3/4|SC130A_| M6 15Nm| 188 | 19 | 16 |17.75| 24 | 142 | 165 | 130 |M10x20] 5 | 5155 | 587 |84/84/80
A552/3 |SC130B | M8 36Nm| 189 | 20 | 17 |17.75| 32 | 160 | 165 | 130 |M10x20] 5 | 5615 | — | 93/93
A552/3 |SC180A | M8 36Nm| 240 | 20 | 17.5 [17.75] 32 | 192 | 215 | 180 |M12x24| 5 | 5655 | — | 93/93
A552/3 |SC180B | M8 36Nm| 240 | 20 | 17.5 [17.75| 38 | 192 | 215 | 180 |M12x24| 5 | 5655 | — | 93/93




B A 60...5K / SC

o P
165 X N <F
=X
. H 4/7 -
T IRCT et e
v i m) £ (! r
0 ] ‘ | © ¢0 N E .5
< -H- ( O - | MF7
N2 —
[(e]
- 1225 L122.5 N1
B
P
H] D M M1 M2 N N1 N2 N4 X |23x Os|ax G| B
A604 |SK80B 120 14 16.3 5 9 100 80 |Mex12| 4 — | 6065 | 8o
A60 2/3/4| SK80C 120 19 | 218 6 96 100 80 | Mex12| 4 536 | 606.5 | 93/93/92
AG0 2/3/4|SK95A | 130 14 | 163 5 102 | 115 95 | M8x12| 4 536 | 606.5 | 93/93/92
AG0 2/3/4| SK95B 130 19 | 2138 6 102 | 115 95 | M8xi12| 4 536 | 606.5 | 93/93/92
AG0 2/3/4|SK95C | 130 24 | 273 8 102 | 115 95 | M8x12| 4 536 | 606.5 | 93/93/92
AG0 2/3/4|SK110A | 140 19 | 218 6 120 | 130 | 110 | Mexi2| 5 536 | 606.5 | 93/93/92
A60 2/3/4|SK110B | 140 24 | 273 8 120 | 130 | 110 |wm8x12| 5 536 | 606.5 | 93/93/92
A60 2/3/4|SK130A | 188 24 | 273 8 142 | 165 | 130 |M10x20| 5 536 | 606.5 |97/97/103
A602/3 |SK130B | 189 32 | 353 10 160 | 165 | 130 |M10x20| 5 5825 | — | 1021102
A602/3 |SK180A | 240 32 | 353 10 192 | 215 | 180 |M12x19] 5 5825 | — | 102/102
A602/3 |SK180B | 240 38 | 413 10 192 | 215 | 180 |Mi2x19| 5 5825 | — | 1021102
e
H] @ M | D | E| F |G| m/| N[ N Ne | X |23x O |ax G| B
A604 |SC80B | M6 15Nm| 120 | 155 | 145 [17.75| 14 | 96 | 100 | 80 | Méx12 | 4 — 630 90
A60 2/3/4/SC80C | M6 15Nm| 120 | 155 | 145 |17.75| 19 | 96 | 100 | 80 | Méx12 | 4 | 5595 | 630 | 94/94/93
A60 2/3/4|SC95A | M6 15Nm| 130 | 165 | 15 |17.75| 14 | 102 | 115 | 95 | M8x16 | 4 | 5595 | 630 | 94/94/93
A60 2/3/4/SC95B | M6 15Nm| 130 | 165 | 15 |17.75| 19 | 102 | 115 | 95 | M8x16 | 4 | 5595 | 630 | 94/94/93
A60 2/3/4/5C95C | M6 15Nm| 130 | 165 | 15 |17.75] 24 | 102 | 115 | 95 | M8x16 | 4 | 5595 | 630 | 94/94/93
AG0 2/3/4|SC110A | M6 15Nm| 140 | 165 | 16 |17.75] 19 | 120 | 130 | 110 | M8x16 | 5 | 5595 | 630 | 95/95/93
A60 2/3/4/SC110B | M6 15Nm| 140 | 165 | 16 |17.75] 24 | 120 | 130 | 110 | M8x16 | 5 | 5595 | 630 | 95/95/93
AG0 2/3/4|SC130A | M6 15Nm| 188 | 19 | 16 |17.75| 24 | 142 | 165 | 130 |M10x20| 5 | 5595 | 630 |96/96/104
A602/3 |SC130B | M8 36Nm| 189 | 20 | 17 |17.75] 32 | 160 | 165 | 130 |M10x20| 5 | 6055 | — | 105/105
AG02/3 [SC180A | M8 36Nm| 240 | 20 | 175 |17.75] 32 | 192 | 215 | 180 |M12x24| 5 | 6095 | — | 105/105
A602/3 |SC180B | M8 36 Nm| 240 | 20 | 17.5 [17.75| 38 | 192 | 215 | 180 |M12x24| 5 | 6095 | — | 1051105




